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L/min L/min L/min W rps

10 0.8 0.5 1200 10

1.3 (REERAECH
4>RIEY 0.5mL 1000 ug/mL Ga. Te. La. Ce. Yb. Ir Ba¥RA®RTF 50mL

FERP , B 1% ERARESZEXE , BB 10ug/mL BSRESREFELS
R ERENEENESITVESR KB 1% HERARSIFEEZO, 1, 5, 10,
20, 30 po/L FH.
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1 Ga 0 1 5 10 20 30
2 Te 0 1 5 10 20 30
3 La 0 1 5 10 20 30
4 Ce 0 1 5 10 20 30
5 Yb 0 1 5 10 20 30
6 Ir 0 1 5 10 20 30
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Calibration Graphs
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Conc = B.57978e-005 * Resp + 0102265
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Conc = 0.000119072 * Resp + 0.416517
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1 Ga 0~30  COncT0.000814024 FResp- 49991 0.15
2  Te  0~30 cone = 0.901795°5 * Resp + 0.9989 0.32
3 la 0~30 Conc= 8'53?1708;2'225 *Resp+ 59992 0.06
4 Ce 0~30 CONCTI7LESEAIS *Resp+ 49990 0.05
5 Yo 0~30  ©ON¢T 0000392058 FResp+ 59086 0.02
6 Ir 0~3p CONT 000019072 FResD 0,993 0.01
x4 HRIENE
E iz EEET HESR
mg/kg
1 Ga 69 20.07
2 Te 126 0.77
3 La 139 1.19
4 Ce 140 0.31
5 Yb 172 0.16
6 Ir 193 2.61




